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A STORY OF UNITS Lesson 11 Problem Set

Name Date

1. Estimate the product. Solve using the standard algorithm. Use the thought bubbles to show your
thinking. {Draw an area model on a separate sheet if it helps you.)

@) 138x32= 1 x 30 - A0 1.38x32=“‘l_LL_uL
@,
¥

Think! 4,416 is 100
times too large! What
is the real product?

Think!
1.38 x 100 = 138

4,416 + 100 = 44.16

@ 3.55x 89 = X E 3.55x89 =

Lesson 11: Multiply decimal fractions by multi-digit whole numbers through

EU REKA conversion to a whole number problem and reasoning about the 152

MATH"‘ placement of the decimal.
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A STORY OF UNITS Lesson 12 Problem Set

2. Estimate. Then, solve using the standard algorithm. Use a separate sheet to draw the area model if it
helps you.

) 123x12=_ 1 x JQ = 1O 13x26=_ | x_ B30 -_3Q

%10 .3 2o |13
173 025 123 2

A 4o
+1 230
[GT0 22> 14.H
c. 023x14= x : (9 oa5x26~ 0.5 « 30 -_|S

(¢) 7.06x28= x = f. 6.32x223= x =
@7-06 x 208 = x = h. 151.46 x 555 = x =
EU REKA Lesson 12; Reason about the product offa whole number and a decimal with 164
hundredths using place valu@ understanding and estimation.
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